&

PIMS27ZIVEAM I —FE—&—

[EEREL / L7 1%RE

HER/T—%

F77xL BOELE 3:1 BOELE 9:1 F7L 1:2
M%ﬁ\fﬁx 30 rpm Bf 300 rpm B 10 rpm B§ 100 rpm B§ 3.3 rpm B§ 33 rpm Bf 60 rpm BF 600 rpm B
PMO 0450 4 Nm| 2 Nm 12 Nm| 6 Nm| 36 Nm| 18 Nm 2 Nm 1 Nm|
PMO 0900 8 Nm| 3 Nm| 24 Nm| 9 Nm| 72 Nm| 27 Nm 4 Nm 1,5 NM
PMO 1800 16 Nm 2 Nm 48 Nm| 6 Nm| 144 Nm 18 Nm 8 Nm 1 Nm|
PMO 3600 32 Nm 3 Nm 96 Nm 9 Nm 288 Nm 27 Nm 16 Nm 1,5 Nm
PMO7200 k& BA /P67 / ATEX DFHER Y L ds Y . INOX / FF DERV VAT E N EH A,
PMO 7200 64 Nm 6 Nm 194 Nm 1ONM  zprromumois, #7750 731 BEE7 0HTT,
28 EAE) AR E—4—EAlC FTHEL R T R
HFREH ERRTTE ERETRTE mboz|AHE B8 JNBHES 9EHES FT12BHESE
E—AUk
2.00 Kg 2.80 Kg 2.10 Kg
PMO 0450 100 N 750 N 400 N 5Nm 1.10 Kg
2.20 Kg 3.00 Kg 2.30 Kg
PMO 0900 100 N 750 N 400 N 5Nm 1.30 Kg
6.10 Kg 7.90 Kg 5.90 Kg
PMO 1800 200 N 1500 N 800 N 10 Nm 3.40 Kg
6.70 Kg 8.50 Kg 6.50 Kg
PMO 3600 200 N 1500 N 800 N 10 Nm 4.00 Kg
9.10 Kg
PMO 7200 200 N 1500 N 800 N 10 Nm 6.40 Kg
4 ;
'
Kij i
IR - .
== T R Bt =i
u vo | || o i | Mk wa -
IVETSIIBY EC ez D]
d1 d2 d3 d4 db d6 d7 d8 | d9 d10 d11 | d12 | d13 | d14 | d15
PMO 0450 99 14 h6 M 4x12 M 6x0,75x8 M 4x9 67 55 h6 40 28 M 5x5 87 5.4 110 120 5
PMO 0900 99 14h6 | M4x12 | M 6x0,75x8 M 4x9 67 55h6 | 40 | 28 | M5x5 87 5.4 110 | 120 5
PMO 1800 159 19 h6 M 6x18 R1/8x9 M 6x10 115 95 h6 50 35 M 5x5 140 8.5 180 199 7
PMO 3600 159 | 19h6 | M6x18 R1/8x9 M6x10 | 115 | 95h6 | 50 | 35 | M5x5 | 140 8.5 180 | 199 7
PMO 7200 159 19 h6 M 6x18 R1/8x9 M 6x10 115 95 h6 50 35 M 5x5 140 8.5 180 199 7
L1 L2 L3 L4 | LITVA | L2VA [ L3VA | L5 | L6 L7 L8 | L9 | L10 | LM L12 | L13 L14
PMO 0450 78 52 51 3 81 55 53.5 18 16 5N9 11 25 12 39 99 89 5
PMO 0900 93 67 65 B 95.5 69.5 68 18 16 5 N9 11 25 12 54 99 89 5
PMO 1800 111 70 68 5 115 74 71.5 28 22 6 N9 15 40 13 55 159 140 9.5
PMO 3600 133 92 90 5 137 96 93.5 28 22 6 N9 15 40 13 77 159 140 9.5
PMO 7200 194 153 | 151 5 198 157 154.5 28 22 6 N9 15 40 13 138 159 140 9.5
L15 | L16 | L17 | L18 L19 L 20 L21 L22 | L23| L24 |W1|W2| W3
PMO 0450 40 15 10 37 50 0.5 10 58 6 4 N9 | 45° | 90° 45°
PMO 0900 40 15 10 37 50 0.5 10 58 6 4 N9 | 45° | 90° | 45°
PMO 1800 55 16 15 48 67 0.5 12 90 7 5N9 | 45° | 90° 45°
PMO 3600 & 16 15 48 67 0.5 12 90 7 5N9 | 45° | 90° | 45°
PMO 7200 55 16 15 48 67 0.5 12 90 7 5N9 | 45° | 90° 45°




MOTOR PMO 450
6.000 2Nn7>_
5500 pd
5.000 pd
4500 "
$ o e
#Iﬂl( 2500
,a]lg 2.000 S ) -
e =
' 7
s0 ¥~
T
' [EIE=24
300 50 75100 125 150 175 200 225 250 275 300
4 4 3 3 3 3 3 2 2 2 2 2
120 21 23 33 43 54 67| 54 71 75 88 100

T7—HeENZIICHITHE—2 M (F VT XDHY)

T7—EENEICHITZE—2— 48 (AU T R%GL)




MOTOR PMO 900

11.000 4 Nm 3Nm
10500 —
10,000 /
9,500
9.000 /
8500 G Wi
8.000

7500 / | / n
7,000 P /./
6500 —
6000 y .| 1
5500 7 7 /./
5000 I
4500 7 > .
4000
S50 8Nm Z, : [
3000
2500 ]
2000 1
1500 1
1000 1 o
s00 1§ i
0 [ [

I7—HEE Livh

rpom 30 60 80 100 120 140 160 180 200 220 240 260 280 300

BER¢

300 50 75 100 125 150 175 200 | 225 250 275 300

8 8 7 7 6 6 6 5 4 4 3 3

26 58 58 83 92 117 133 142 142 175 154 183

I7—EENEIICHITHE—2 M8 (AT RADHY))

T7—eENEIICHIT BT -2 — 18 (AT X7%L)




MOTOR PMO 1800

18.000
17.000

6.Nm

16,000 ; 2
15,000 /
14,000 #» 2
oo &Nm ) ra

12000 ¥
11,000 Hhm i
10000 » 4
9000 12 Nm / ! 4

4

8.000
7.000

6.000 / / ),/
so0 ] ¥ >

4,000 :
3.000

o P é l v
1.000 ‘y
o T w71
pm 30 60 80 100 120 140 160 180 200 220 240 260 280 300

Bl

N
3
N
\

I7—H&E Livh

30/ 50 75 100|125 150 175| 200 225 250 275 300

15 12 12, 12 10 8 8 6 6 4 4 2

52| 75 103 133 | 150 167 202 | 200 233 225 292 217

T7—HeENZICBITEE—2 ke () T1RHY)

T7—eENEIICHITHE—2— 18 (AT R%GL)




N [\
N
=

X 6 49 Ny
[ 12-Nm /
16,000 18 N /)

- s A/
120 PNV AW./ A4

e sty K 7 e M

/L

NI\

I7—HEE Livh
03
88

2000 I
1000 I I
0  ——

U/min 30 60 80 100 120 140 160 180 200 220 240 260 280 300

ElER#

MOTOR PMO 3600

300 50 75100 125 150

175

200

225

250

275

300

300 28 20 20 12 10

10

10

10

10

92| 150 167 | 242 225 217

258

325

392

450

425

375

T7—eENEIICHITHE—2— 48 (AT R%L)




TORQUE

65

Torque in Nm

60 |

45

7200

40

35

§ 30 B\\m
3600
N ~ o
_2 20 \S\\S\ \E\
15 B\\B\\s\ \B\
i 1800 \S\\ﬂ\\ﬂ\\ﬂ\\n \B\\m
e e O NN - = WO
0 N = = 5 5 & = = = o = A
pm 30 40 60 80 100 120 140 160 180 200 220 240 260 280 300
EIETR4
PERFORMANCE
350
3254 /Z/E\\
300
275 \
. z/ PMO 7200 | \\
225 " —
A 200 IZ/ /E/ \n \S\
L_i s /PM03600| \ \S\
150 ///}?////,Ek////z&}————»ék‘Aiisz:_‘“4;--~%3\\::::S:::
PMO1800| N\
125
00 / /B/ /E/BA( \SA;\-\\\E
/B/ / PMO 0900 \S
75
I
PMOO4ﬂ
25
———
g ’ 30 | 40 | 60 | 80 | 100 | 120 | 140 | 160 | 180 200 ‘220 ‘240 260 ‘280 300
rpm

CIk o014




